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30. The ratio of the number of 5-cent to 10-cent to 20-cent coins in a piggy bank is   

2 : 3 : 5. If there are eighty 10-cent and 20-cent coins altogether, how many 5-
cent coins are there?  
 
(A) 10  

(B) 20  

(C) 32  

(D) 116  

 
 

31. There are 48 pens and 64 pencils in a container. What is the ratio of the number 
of pens to the number of pencils?  
 
(A) 2 : 3  

(B) 3 : 2  

(C) 3 : 4  

(D) 4 : 3  

 
 

32. Liwen packed some fruits into a box as shown in the table below. What is the 
ratio of the number of cherries to the total number of fruits?  

 
Type of fruit Number of fruits 

Cherry 8 

Mango 5 

Orange 4 

Banana 2 
 

(A) 4 : 8  

(B) 8 : 11  

(C) 8 : 19  

(D) 19 : 8  

 
 

 
 


